
690 SUPERMOTO PRESTIGE 2007 <2007><EU><9726G5>
BATTERY

4306

Pos Part Number Description Additional Text Quantity

1 75011059000 STARTER CABLE 07 1.00

2 75011059050 BATTERY CABLE 07 1.00

3 75011097000 GROUND CABLE 07 1.00

4 75011056000 BRACKET RUBBER FOR BATTERY 07 1.00

5 58411053100 BATTERY 12V 8,6AH 03 1.00

6 61011097000 GROUND CABLE L=450MM 05 1.00

7 60011058000 STARTER RELAY 03 1.00

8 58011109130 Plug-in fuse, big 30A 2.00

9 75011054033 BATTERY BRACKET CPL. 07 1.00

10 61111057000 RELAY CM1A-R-12V-H80 07 3.00

11 0024060273 COLLAR SCREW M6X27 TX 2.00

12 60011034000 VOLTAGE REGULATOR LC8 03 1.00

13 43205062100 silentbloc 20x15-M6x10-(1) ONLY FOR USA 4.00



14 0014060103 HH COLLAR SCREW M 6X10 WS=8 4.00

15 0902060083 Oval head screw ISO 7380 M 6X8 2.00

16 0912050083 SHCS DIN 912 M5x8 1.00

21 75011059060 POSITIVE POLE COVER 07 1.00

22 58411098100 CONTACT WASHER M6 VSV-K6 1.00

23 0015060163 HH COLLAR SCREW M 6X16 WS=8 FE, FS 1.00

24 0015060103 HH COLLAR SCREW M 6X10 WS=8 FC 2.00

25 0934060003 Hex. nut DIN 934 M6 2.00


